NOTE: This is the packing list for the standard kit for the Royal Victorian greenhouses. If you have
added optional accessories, they will not be on this list.

Identify parts by extrusion shape (cross section) and length. We strongly recommend using a metric

or combination tape measure. Measurements are kept in metric for precision.
Be aware items are packed in front of the glass as well as in the cubby behind the glass.

WEIGHT: MASTER
V23 384 kg j
VI24 485 kg
Vi34 567 kg
VI36 676 kg
V146 630 kg + 170 kg
DIMENSIONS:
800 x 900 x 2300 mm }/q
ITEM VI23 V24 VI34  VI36 V146
n Louvered window (Black) l1pc 1pc lpc 1pc 1pc
E Sliding door (ESD_183_79) lpc  1pc lpc 2pc 2 pc
T2 Roof Window (DAKR_HEL) 2pc 3pc 3pc 4pc 6 pc
% PRO6578 corner profile 1830mm  4pc  4pc |1830mm 4pc  4pc |1830mm 4 pc
[{j] PRO1456 glazing bar wall 1830 mm 10pc 14 pc|1830 mm 16pc 20 pc | 1830 mm 22 pc
EE:J] PR06918 endbar roof 1230 mm dpc  4pc 1630 mm 4pc  4pc |1986 mm 4pc
§ ﬂij PRO1456 glazing bar roof 1230mm  6pc  10pc 1630 mm 10pc 14 pc {1986 mm 14 pc
@ Gutter downspout(PRO10980 tube @40) {1900 mm 2pc  2pc (1900 mm 2pc  2pc 1900 mm 2pc
= PR021214 wind bracings wall 1975 mm 8pc 8pc [1975mm 8pc  8pc [1975mm 8 pc
3 PRO1748 rubber 12m/rol S5pc  6pc 7pc  8pc 9pc
Mixed Hardware (ZAK_H): lpc 1pc lpc  1pc 1pc
Screw 4.8x38mm (for gutter elbow) 2 pc
Bolt M6x25mm (for roof wind braces) 4 pc
Screw 4.8x19mm (roof wind braces/finials) 10 pc
Glassholder (PRO20780) 32pc
Gutter Elbow PVC @40 90° PVC 2 pc
Black Gutter inserts 2+2pc
_ BAG_GLASS SPACERS lpc 1pc lpc 1pc 1pc
> 4 red spacers/shims 80 pc
silicone 1pc
!..!..ﬂ RIDGE DECORATION  box 1pc 1+lpc 1+1pc 2+1pc 2+1pc
@ SPANDREL (Deco Scroll Support) 3 pc 3 pc
V146 Additional Nuts/Bolts (ZAK_BOUT): 1pc
nut cap M6 50 pc
nut M6 50pc Main kit of nuts and bolts will be in Colli B - see notes
bolt Méx12 50 pc r j

POSITION GLASS DIMENSIONS VI23 |VI24 |VI34 |VI36 V146
sliding door 730 x1850mm (283/4"x723/4") | 1pc [1pc |1pc |2pc [2pc
walls 730 x1850mm (283/4"x723/4") | 12pc| 16pc | 18 pc |21 pc {23 pc
under louvre-vent 730 x 825mm(283/4"x321/2") | 1pc | 1pc | 1pc | 1pc |1pc
triangle H1 1099 x 74 x 543 mm 4pc | 4pc | - - -
triangle H2 730 x74x411 mm - - dpc | 4pc
triangle H3 730 x414x696 mm (113 plat) 4dpc | 4pc | -
triangle H4 730 x72x357 mm - - 4 pc
triangle H5 730 x360 x 645 mm 4 pc
triangle H6 361 x648x 737 mm (133 plat) - 4 pc
roof 730 x 1250 mm (28 3/4" x493/16") | 6pc | 9pc | - - -
roof 730 x 1650 mm (28 3/4" x 64 7/8") - 9pc | 12pc| -
roof 730 x 2000 mm (28 3/4" x 78 3/4") - - - 10 pc
roofwindow 730 x 825mm (283/4"x321/2") | 2pc | 3pc | 3pc | 4pc | 6pc
under roofwindow 730 x 425mm (283/4"x163/4") | 2pc | 3pc | - - -
under roofwindow 730 x 825mm (283/4"x321/2") | - - 3pc | 4pc |-
under roofwindow 730 x 1180 mm (28 3/4" x 46 1/4") - - 6 pc




COLLI A(Carton A)

WEIGHT:

VI3NVI4  19kg
VI34/VI36  25kg
Vi46 29kg
DIMENSIONS:

250 x 150 x 2800 mm VI23/VI24
3300 mm VI34/VI36

Small Black PVC gable pieces ~ 4+4+2 pc

4050 mm VI46
ITEM VI23 /VI24 VI34 /VI36 V46

[j PR0O6120 foundation profile 2360mm  2pc | 3098 mm 2pc (3836 mm 2 pc
@ Roof Diagonal Support B19_1030 (round tube @19) 1030 mm  2pc {1030 mm 2pc
J Corner Anchors (L40X40GATFUND) 400mm 4 pc 400mm  4pc 400 mm 4 pc
E‘W’ﬁﬁﬁ PR020229 horizontal gable profile 2244 mm  2pc | 2982mm 2pc  |3720mm 2 pc
B: PR021214 wind bracings roof 2543 mm  4pc 2757 mm  4pc  |2980 mm 4 pc
m PRO1456 gable glazing bar 547mm  2pc 703mm  2pc |736 mm 2pc
m PRO1456 gable glazing bar 90 / 65 396mm  2pc  |345mm 2pc
ﬂj PRO1456 gable glazing bar 90 / 65 634 mm 2pc
m PRO1456 gable glazing bar 65 / 90 39%6mm  2pc [345mm 2 pc
ﬂfﬂl PRO1456 gable glazing bar 65 / 90 634 mm 2 pc
P&, E400330 halfmoon glazing rubber gasket 1pc 201m l1pc |20Im 1pc
Cj Mixed Hardware (SAPAKHELIOS): 1pc 1pc 1pc

Corner Anchor Bolts M6x50
Corner Anchor Nut M6 16 pc
Gable L brackets (L2G) 10 pc

16 pc

COLLI B (Carton B)

WEIGHT:
M23 26kg
M24/M34  39kg
M36/M46  52kg
DIMENSIONS:

250 x 150 x 3200 mm VI23

4700 mm VI24/VI34
6250 mm VI36/V146

ITEM

VI23 VI24 / Vi34 VI36/ V46

[j PR0O6120 foundation profile 3098 mm 2 pc 4574mm 2 pc 6050 mm 2 pc
H PR0O20227 gutter profile 3098 mm 2 pc 4574mm 2 pc 6050 mm 2 pc
g PRO6760 ridge profile 3098 mm 1pc 4574mm  1pc 6050 mm  1pc
@ Assembly Bolts/Nuts (ZAK_BOUT) 2 pc 3pc 3pc

nut cap M6 50 pc

nut M6 50 pc

bolt M6x12 DIN933 A2 50 pc
J Additional VI 46 Corner Anchors (L40X40GATFUND) 400 mm 2pc

IMPORTANT!!! The packages of nuts/bolts/covers are tucked INSIDE the

gutter profiles (PR020227). You must cut off all shrink wrap on gutters to

find them.




Royal Victorian Glass Sizes - 4mm thick (3/16")

(VI23 7'9"x10'2") »11117::7/16"
T PUNT SL1 T
Roof Vent & L& 4 QEQ
S . " X o
13x 3x | &3 6x % 2118 Gable PR
N belowlouveri"’ Roof SO I
Side wall ox —o | 1.09% .
58’% l~—730— ) 431/4
=R 283/4" |
o
Yo l—730—
below vent _rH 283/4"
|<TZZ§4__4
R
28 3/4"
(V34 10'2" x 15) 715
PUNT SLS_’| -
PUNT Lo |l
~
TS & X 2%
Side wall o5 74— 'Gable 49 3 Gable
o% Roof B f—730— T —730—
2w €S 283/4" 2%
<N ©
Roof Vent & _LN
7x | 83
[v'e]
below vent & ls’
below louvet
-—730—|
283/4" -—730
L_E§§§774 283/4'
(VI36 102" x 19'11") .
13
PUNT SL3 3 |T
PUNT SL2 At ek
23x% 12x I8 & X N
. iTOF 4
Side wall . Ko;Q %15 16 “Gable 4o E"T Gable
O x R N
C I N - Rt 77 2
— N 28 3/-
A Roof Vent & T:
below vent & mg
9x SN
283/4" below louvel l”’
| 283747 730 283/

| |
- 730 - - 730 -
23

Alle tekeningen zijn steeds buitenaanzicht — Alle afmetingen in mm.



VI46 Glass

3/16" (4mm) tempered safety glass

x 10 H5 Heé
Ha / \
/{ X |X ]\
t ]
X 6 ‘ ‘ ‘
| 384
X 6 H4 £¢
+ e
72— "
2t 730 o
28 3/4"
X 22 H5 T
1 0%
™ il
b 730~
3/4"
X 2 28
5 1/4
133
_ _ HE6 -
Top Hang Window (optional)

570 x 865 :

Glass Below Top Hang Window/Louver

3
730 x 825 1 1

24





